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GENERAL INSTRUCTIONS :

Read the following instructions carefully and follow them :

(i)

(1)

(iii)

(i)

(v)

(vi)

(vii)

This question paper contains 33 questions. All questions are
compulsory.

Question paper is divided into FIVE sections — Section A, B, C, D
and E.

Section A — question number 1 to 16 are multiple choice type questions.
Each question carries 1 mark.

Section B - question number 17 to 21 are very short answer type
questions. Each question carries 2 marks.

Section C - question number 22 to 28 are short answer type questions.
Each question carries 3 marks.

Section D - question number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E — question number 31 to 33 are long answer type questions.
Each question carries 5§ marks.

(viit) There is no overall choice given in the question paper. However, an

(ix)

(%)

internal choice has been prouvided in few questions in all the Sections except
section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculator is NOT allowed.

SECTION - A

Question No. 1 to 16 are Multiple Choice type Questions, carrying
1 mark each. 16 x1=16

1.  Which of the following species can act as the strongest base ?

(A) OH- (B) CGH,0~

0
(C) RO~ D) Q
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2. AT 3N YT U FARIBIH oh &: STTeRAIehT0T R Sedtiea fodeft 7 3
(A) wIEEH (B) weEiw
(C) WA (D) 31y (feer) frm

3.  TmuEd faerEi 1 g g auH
(A) YA
(B) IATeHT
(C) T g

(D) 3T

4. Tt o o fofdre shw oot Uit s1eet sxafed 81 2, Faedt 3
(A) iR AT
B) Terdtees wg=m
(C)  efrerh Hw=rm
(D) =T HE=

5. HSRHU UTqU AU ATk ST o ToTu HeATHifd ST SITd & | STauresri Afiehi o o
EEETHRIG ISR
(A) AP HIR
B) 3fees Hme
(C) 3iforh a1

(D) Aferes anferes
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o [E]

Auto-oxidation of chloroform in air and light produces a poisonous gas

known as
(A) Phosphine (B) Mustard gas
(C) Phosgene (D) Tear gas

Isotonic solutions have the same
(A) density

(B) refractive index

(C) osmotic pressure

(D) volume

The specific sequence in which amino acids are arranged in a protein is

called its

(A) Primary structure
(B) Secondary structure
(C) Tertiary structure

(D) Quaternary structure

Transition metals are known to make interstitial compounds. Formation

of interstitial compounds makes the transition metal
(A) more hard (B) more soft

(C) more ductile (D) more metallic

56/5/2/22 5 WAAMAAAAAAAAAAAANAAAAAA P.T.O.
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@ g afufcrnwTad am g -

Ar—-Ny, X~ HBr Ay Br+N,
Cui@

(A) BwaH smmTss Frfiestor arfrferan
(B) Hfsreet Afefarse Teetor

(C) ehrfsiet T Fferfshan

(D) TTeHE FffeRa

forem 5 =R wwferal A, B, C 3R D et 3 shwt: CH,CH = CH,,, CH,CH,CH = CH,,
CH,CH = CH - CH, 31 (CH,),, C = CH,, fefan 3R 3eh1 qefareh sgfee Uehlgiet #
FUTUT L T T fhaT | 30 Tsh UoehH TR 37T SN SieraireH TIfsham & |
TR R § F Fifesd TRy ¢ aTeft et §

A4) A (B) B

€ C D) D

KC! ferm o fofq afue g% res 8 OHd g¢ foh I8 uia: foanfaa &, &

A 1 (B) 2
(C) 0.5 (D) 1.5

TR HIR STeTehdl Ud FTeTehdl G ol THTT Shidl & | GHI IR dehL0l o1 IWTE & :

(A) AT % T TIeR FTeTshdl Tl & STelfeh TTetshal sl ¢ |

(B) AT % WY HIeR ATeTshdl Sgd & ST feh aTetehdl e ¢ |
(C) T HIY ST e & |
(D) el < B S 9 ¢ |
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o [E

The correct name of the given reaction is

Ar—-Ny, X~ ___HBr Ay Br+N,
Cu powder

(A) Hoffmann Bromamide degradation reaction.
(B) Gabriel Phthalimide synthesis
(C) Carbyl amine reaction

(D) Gatterman reaction

Visha took 4 test-tubes namely A, B, C & D containing CH;CH = CH,,
CH4,CH,CH = CH,, CH;CH = CH — CH4 and (CH;),C = CH,, respectively
and tried to convert them into tertbutylalcohol. She carried out acid

catalysed hydration reaction on every alkene. Out of the four test-tubes,
the one which will give desired result is

A) A (B) B
© C D) D

Van’t Hoff factor for KCI/ solution assuming the complete dissociation is
A 1 B) 2
(C) 0.5 (D) 1.5

Dilution affects both molar conductivity as well as conductivity. Effect of
dilution on both is

(A) molar conductivity decreases whereas conductivity increases on
dilution.

(B) molar conductivity increases whereas conductivity decreases on
dilution.

(C) both decrease with dilution.
(D) both increase with dilution.



10. SaIe (STfeh ) B <h1 ET TieT I Il & ?

A) FFEA

(C) IS TIEh A
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CH,CH,
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A LI III

©) LILII, IV

N
o~
%

C
/ ////////
V) H,CCHy | ™

@®) TI, 111, IV

(D) L III, IV

12. MR A + 2B — C + D & fou sfufren hi shife 2 -

(A) AsYfdl

(B) B ufd 2

(C) e T&T =1 ST Tehcl! RAfeh TR hife TRITTeHe &4 & fAaif@ FI 15 8 |

D) 3
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10. Which of the following cell is used in inverter ?

11.

12.

(A) Fuel cell

(C) Lead storage cell

In which of the following molecules, C atom marked with asterisk is chiral ?

CH3
v
(I) = ////////
H, C/ = ”Br
H

(I11)
CH,CH,

N
N
Ny
<

— ||||||||\(j*—U

8]
Q
ja=
w

@A) LI III

©) LIL III, IV

For the reaction A + 2B — C + D. The order of the reaction is

(A) 1 with respect to A

(B) 2 with respect to B

(C) can’t be predicted as order is determined experimentally.

D) 3

56/5/2/22

(B) Mercury cell

(D) Dry cell

1

*

C
II) =",
H3C/ s Cl

UU mn

T

1.’

*

C;
IV) H,CCHy | m
D

(B) IL IIIL, IV

(D) L III, IV
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TR AT 13 ¥ 16 % o, Q1 e ey 71T & — FFH Tk 1 ST (A) T gaL o1

T (R) gT0 3ifeha o T B | 57 A % W I AR fem et (A), (B), (C) 3R

(D) H ¥ T ST :

(A) FHYA (A) 3 HAY (R) QFI HE & ST HAT (R), IhYA (A) 1 Hel =2
HATE |

(B) AR (A) 3R HWO (R) qHI HEl &, 9o RO (R), ARSI (A) 1 wel

ST T8l T 8 |

(C) AfTheH (A) TE 8, Tg SRV (R) TTeAd 8 |

(D) ATHYA (A) TTeAd B, g R (R) T B |

13. A (A) : p-TTSeIhIATe i G 8 p-BeifefihiaTe Jeeral 37 ¢ |

R (R)  : BT Hg +1 TS Gl & STefeh 152! THg —I TWTa R & |

14. A (A) : S,2 AR T forame 1 Uit Jierd 2ra 2 |
&R (R) : JATTsRaT STaTheTEH % 3101 o 1Y SR Bl 2 |

15. RepE (A) : Topet s whife sht arfufsran <5 forw o e afik stffsran o
ThTSAT THH Bl & |
&R (R) I hife shi srtafsean 9, srfufsran o stfufsrenati < agar w fafk
TEHER |
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For questions number 13 to 16, two statements are given one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

13. Assertion (A) : p-methoxyphenol is a stronger acid than p-nitrophenol.

Reason (R) : Methoxy group shows +I effect whereas nitro group

shows —I effect.

14. Assertion (A) : Inversion of configuration is observed in S 2 reaction.

Reason (R) : The reaction proceeds with the formation of carbocation.

15. Assertion (A) : The units of rate constant of a zero order reaction and

rate of reaction are the same.

Reason (R) : In zero order reaction, the rate of reaction is independent

of the concentration of reactants.

56/5/2/22 11 VAAAAAAAAAAAAAAAAAAAA, P.T.O.



16. AMBUT (A) @ Zr 3T Hf 6 1 a9 gy et & |

RO (R) : I8 AAIIS 315 b BRI 3 |

e -|
17. TrefeRaa wgi w1 aftwfyd Hifsr -
(a) IS 1 AgasTaEeH i fgefia fem
(b) TR

18. 0.2 mol L1 KC! foea & M g Tk FTctehdl Tt ol Tfalie 200 Q 7 | Afe 3¢t T 1
gfeig 0.05 mol L1 KC! oo™ w1 W 620 Q & @l 0.05 mol L1 KC! foerea i
TTAhdT T HIel FTetehdl Tiehiord hiterg | 0.2 mol L1 KCI faem 1 arctehar
0.0248 S cm™1% |

19. TIISY fob W hife i STUTHAT H 99% STTTshRaT 0T B | & 99T 90% STTTshar uf
B H A 9T 99 | g1 8l 8 | (log 10 = 1)

20. (a) = SuT=aLor T i
@) g @ ufef
(i) UM | hiHle
YT
(b) () STSHfS T 3R Qi  favig e < forg Temafes wdieo fafaw |
(i) o= SRS FAREE Hl KI o |1 Aiehd fhy I = HiHa 3ce
ferf |

21. Trefafad ehust o1 THEHUSE 3R SEHHUSE | Jifihd hifuT :

N N N N
aclsl, cdaclsl, Iefehlsl, Hiecls
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16. Assertion (A) : Zr and Hf are of almost similar atomic radii.

Reason (R) : Thisis due to Lanthanoid contraction.

SECTION - B
17. Define the following terms : 2
(a) Faraday’s second law of electrolysis

(b) Corrosion

18. Resistance of a conductivity cell filled with 0.2 mol L1 KCI solution is
200 Q. If the resistance of the same cell when filled with 0.05 mol L! KCI
solution is 620 Q, calculate the conductivity and molar conductivity of
0.05 mol L't KCI solution. The conductivity of 0.2 mol Lt KCI solution is
0.0248 S cm™1. 2

19. Show that in case of a first order reaction, the time taken for completion
of 99% reaction is twice the time required for 90% completion of the
reaction. (log 10 = 1) 2

20. (a) Carry out the following conversions :
(1) Nitrobenzene to Aniline 1
(11) Aniline to Phenol 1
OR

(b) (1) Write a chemical test to distinguish between Dimethyl amine
and Ethanamine. 1

(11) Write the product formed when benzene diazonium chloride is
treated with KI. 1

21. Classify the following sugars into monosaccharides and disaccharides : 2

Fructose, Lactose, Glucose, Maltose

56/5/2/22 13 WAAMAAAAAAAAAAAANAAAAAA P.T.O.



23.

24.

25.

26.

Qug - T

. Tfafaa siwfraet @ smfaa g 3 it @ g - 1x3

(a) AT I A FIRE FHIEE & |1 AR TG A e |
(b) TF TR T i ITTRATT H - 1-57 T oM |
(c) HIFTe Y ST et o T1y AT TshaT |

C,H N {0k g1 oot feelt AfiTeh X 7 C H,S0,Cl < |1 Jffshan ik T &mH
e 3 feam | X 1 uga™ HINT 3R ITE 1 3118 4 N T 9m e | 99g
stfuferan fafy | 3

am 300 K & 320 K T Jfg T T Toreft 31iafora st o fetieh =R 1 &1 91l & |
39 31fvifsran & fau wfsrarn St 6t o K | 3
[log 2 = 0.30, log 4 = 0.60, 2.303 R =19.15 J K-mol}]

frefafaa SuagdasT et o 318 L f vt 9w fafae @R @)
(@) K,[Fe(CN)]

(b) [Pt(en)zCl2]2+

(© [Co(NH,),CI(ONO)]CI

(d) [Zn(OH)J% 1x3
frfafaa v srfufsran & gea 3aame) 6t ST SIS 1x3

0]

[Ag(NHj)2]* OH™

(a) >

CHO

CHS\C C/CH3 NaOI \
&g \ﬁ - CHj ’
Q)
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23.

24.

25.

26.

SECTION - C
Give the structure of the major product expected from the following
reactions : 1x3
(a) Reaction of Ethanal with methyl-magnesium bromide followed by
hydrolysis.
(b) Hydration of But-1-ene in the presence of dilute sulphuric acid.

(¢) Reaction of phenol with bromine water.

A compound X’ with molecular formula C4HgN reacts with C;H,SO,CI to

give a solid, insoluble in alkali. Identify X’ and give the IUPAC name of

the product. Write the reaction involved. 3

The rate constant of a reaction quadruples when the temperature changes
from 300 K to 320 K. Calculate the activation energy for this reaction.
[log 2 = 0.30, log 4 = 0.60, 2.303 R = 19.15 J K~ mol™] 3

Write IUPAC names of the following coordination compounds : (any three)
(a) K [Fe(CN)]

(b) [Pt(en),Cl,]**

() [Co(NH,),CI(ONO)]CI

(d) [Zn(OH),] 2~ 1x3
Draw the structures of major product(s) in each of the following reactions :
1x3
O
[Ag(NHj3)2]* OH™

(a) >

CHO

H” \ﬁ ~CH, ’

O
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27. Tafcfigd 9 & emf &1 Iiere KIS 3
Ni(s) + 2Ag7(0.01 M) — Ni%?* (0.1 M) + 2Ag(s)

fearmn g E%H =1.05V,log 10=1

28. f=faRed < fow s i 1x3
(a) BUeehd, NaCN & 91 MUl ieh GrATES 3T JEHEEAES gHl i
HIF |

(b) eeudE rarh @ ARttt feere sffshn T8 e |
(c) df~e aeise Sy 1 sfufshan s & |

g -q
ffafad ue - smunfa w97 2 | 58 1 ermuEe ufer 37K feu e et & SR T |

29. UHT <@ T & Fob AN WISH U o hrsif-ieh ANMTeh] chl TTEwehal G&H TTT H BIl 8 T
3Teh! Y o HIOT RIS AT & 91 & | 39 Aieni ol foetiim wad g | rferspin feerfimn
T TIANIT AR IR g &1 foharm ST Tehat <ifer dier wrmvr |t farerfem <1 wgeiwor e
Hehd &, 3Td: 38 SIS ER hHeh AT T 8 | JafU ATERA! o ST gAR forw
Teveh 5 TaeIfiHT 1 30~ L Hehd & | AHIG: R SRR § aeft foerfim Suetey
@& |%l'J&FT(Vitamine)a??l?ﬁ—ﬁ?ﬂ(vital)+Q’1ﬂ?(amine)@§€,3h_{ﬂ%,E@Iﬁ
TREY H UEE T AT H U 998 AT | A a7 9691 H et  SUR 9 et
&1 <1 Tyl § Ffiehd fohan T & —  foer foerfim qen wet o foow faerfim |

frferfiaa i o s T

(a) forIfie B s qaum g ? 1
(b) 3 foerfim =1 warse e M G W & TR T F IR A g A AA 1 1
(0 Foeftfemn fora faefim & weft @ 2 s 7 39 faerfim < < & fafa | 2
AYAT
(c) TR IR ¥ faerfim C = dfua = 781 fopan S wepar @ 7 2 foerfim < it @
HEEIKRUCAE e 2
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27. Calculate the emf of the following cell : 3

Ni(s) + 2Ag*(0.01 M) —> Ni?* (0.1 M) + 2Ag(s)
Given that E2,; =1.05 V,log 10 =1

28. Account for the following : 1x3
(a) Haloalkanes react with NaCN to form both cyanides and isocyanides.
(b) Haloarenes do not undergo nucleophilic substitution reaction easily.

(©) Benzyl chloride gives Sy1 reaction.

SECTION -D

The following questions are case-based questions. Read the case carefully
and answer the questions that follow :

29. Certain organic compounds are required in small amounts in our diet but
their deficiency causes specific disease. These compounds are called
vitamins. Most of the vitamins cannot be synthesized in our body but
plants can synthesize almost all of them. So they are considered as
essential food factors. However, the bacteria of the gut can produce some
of the vitamins required by us. All the vitamins are generally available in
our diet. The term ‘vitamin’ was coined from the words vital + amine,
since the earlier identified compounds had amino group. Vitamins are
classified into two groups depending upon their solubility in water or fat
namely-fat soluble vitamins and water soluble vitamins.

Answer the following questions :

(a) What is the other name of vitamin B ? 1

(b) Name the vitamin whose deficiency causes increased blood clotting time. 1

(¢) Xerophthalmia is caused by the deficiency of which vitamin ? Give

two sources of this vitamin. 2
OR
(¢) Why can’t vitamin C be stored in our body ? Name the disease caused
by the deficiency of this vitamin. 2

56/5/2/22 17 WAAMAAAAAAAAAAAANAAAAAA P.T.O.
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%% Teh Tt H ohg ¥ TTY] H S wef} foruei i afe 37k |me o soieea FTall dfed gel
foTaIT ST 1 g™ URHTY] TR IYTCAA STTANT <1 3Heh! SRR T had & | 381 YR
THS UL ST I8eh Teh W T 3T oh I o SUSK BT &, AT ¥ GTg IR T
T 37 3! B U foTTugi <6 31T o I o SR 3T 2 | $6 W ST, AfS geehi
% ST T AN I &I O Fpel bl G Had g | a2y, g-ieh 7UaT RoTfeh
THe o ToTU, Teehi o STTA T AN TH-TT HSA U 1A o S BT 8 |

IR FI1 W e Frefafaa st @ 3w e

(a) WA fomTug 1 U It ¢ gU Tifiyd Hifsrg | 1
(b) [Co(NH,),CI]SO, 3R [Co(NH,),SO0,]Cl % g fehH FehR shi FHTSIISIAT GTS
TR ? 1
(c) hIoie IuTd ol Iieiyd T | 218 Hpet o TATRICT ST hal TTferd i & 2 2
HYA
(©) Nay[Cr(C,0 ;] H HItRM hi IUHEHASH & Td Al e H1d
I | 2
e -F

31. (a) UH HE® A (A) @ e CgH, 0 & 2, 4-DNP == &[T &,
e forerem o1 smafea star g e hiasm stfufsran ear 2 | o sAieeieror ©©

TB 1, 2-SHSTShIaIaTeh 3R] STaT & |
(i) e (A) I TE=Y 3R $8e1 [UPAC AT feAfa |
(i) R (A) T AR Fafe :
(1) 2, 4-STETEIhTRTZSSH o A1 3TN
(2) o foerm & Ty
(iil) TR (A) 1 THR fafe sie I8 Hiasmy sl ea g | 2+2+1
AYAT
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30. The oxidation number of the central atom in a complex is defined as the
charge it would carry if all the ligands are removed along with the
electron pairs that are shared with the central atom. Similarly the charge
on the complex is the sum of the charges of the constituent parts i.e. the
sum of the charges on the central metal ion and its surrounding ligands.
Based on this, the complex is called neutral if the sum of the charges of
the constituents is equal to zero. However, for an anion or cationic
complex, the sum of the charges of the constituents is equal to the charge
on the coordination sphere.

Based on the above information, answer the following questions :

(a) Define ambidentate ligand with an example. 1

(b) What type of isomerism is shown by [Co(NH,4),CI/]SO, and
[Co(NH,);SO,]Cl ? 1

(¢) Define Chelate effect. How it affects the stability of complex ? 2

OR

(¢) Find the coordination number and oxidation state of chromium in

Nay[Cr(C,0,)5]. 2
SECTION - E

31. (a) An organic compound (A) with the molecular formula C4H,,0 forms

2, 4-DNP derivative, reduces Fehling solution and undergoes
Cannizzaro reaction. On vigorous oxidation, it gives 1, 2-benzene
dicarboxylic acid.

(1) Identify the compound (A) and write its IUPAC name.
(11) Write the reaction of compound (A) with

(1) 2, 4-Dinitrophenyl hydrazine and

(2) Fehling solution

(111) Write the equation of compound (A) when it undergoes
Cannizzaro reaction. 2+2+1

OR
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(b)

o

() Tr=faRed s sro die 1x2

(1) Ufcearzsi 3R M F o-BTESISHI i FYTE AT BT 2 |
(2) SHICHI S AU UfceaTsS! ohT TSI ITTETHT ¥ & W11 2 |
(i) Tr=faRed o safena Hifvw 1x2

(1) U, THIEH 3R S=ai{cSaT8S ohi ITeh! AR TSl ARt
o Tfer Tt Afrfshamsiierar o |

(2) T, TAATSA TR STSARIA ST, T b1 3ok FALTeh] o 9a&d shH | |
(iii) S=sIgeh 3T U9 dralfcgalss 1 favg i o foe ot Tamfes whgmrdfoe | 1

39. frmfaiaa o o foredl qfa wwei o ST i 1x5

()
(b)

(©
(d)
(e)
(®)

(®

56/5/2/22

Ce(I1T) 3TET & Ce(IV) H Afefiehd 81 STl @ | fewofi iRy |

E°(Mn2*/Mn) —1.18 V & | THiYEy d-scih awdl shl goil H I8 UM 3T

SROTTCH 1 & ?

3d — 2ruft o fore T <ht U Tt =FaH 7 3T R 2

HITSIH FhIHE o1 AR T T T 1T 3 ?

Zn, Cd 37X Hg 9 910 2, 37 2
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(b) (1) Account for the following : 1x2
(1) The alpha (a)-hydrogens of aldehydes and ketones are
acidic in nature.
(2) Oxidation of aldehydes is easier than ketones.
(11) Arrange the following in : 1x2
(1) Decreasing reactivity towards nucleophilic addition
reaction propanal, acetone, benzaldehyde.
(2) Increasing order of boiling point :
Propane, Ethanol, Dimethylether, Propanal
(111) Give simple chemical test to distinguish between Benzoic acid
and Benzaldehyde. 1
32. Attempt any five of the following : 1x5
(a) Ce(II) 1s easily oxidised to Ce(IV). Comment.
() E°(Mn2*/Mn) is —1.18 V. Why is this value highly negative in
comparison to neighbouring d block elements ?
(¢) Which element of 3d series has lowest enthalpy of atomisation and
why ?
(d) What happens when sodium chromate is acidified ?
(e) Zn, Cd and Hg are soft metals. Why ?
(f) Why is permanganate titration not carried out in the presence of
HCI ?
(g) The lower oxides of transition metals are basic whereas the highest
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are amphoteric/acidic. Give reason.
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33. (a) (1) Ishan’s automobile radiator is filled with 1.0 kg of water. How
many grams of ethylene glycol (Molar mass = 62 g mol™1) must
Ishan add to get the freezing point of the solution lowered to —

2.8 °C. K, for water is 1.86 K kg - mol 1. 3

(11) What type of deviation from Raoult’s law is shown by ethanol

and acetone mixture ? Give reason. 2
OR

(b) (1) Boiling point of water at 750 mm Hg pressure is 99.68 °C. How

much sucrose (Molar mass = 342 g mol™}) is to be added to 500 g

of water such that it boils at 100 °C ? (K for water = 0.52 K kg
mol1).

(1) State Henry’s law and write its any one application. 3+2
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